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Model >| MODE : LS600-2001

Input specification —>
Output specification —>

Manufacturing — s SER NO : LCA 000001

serial number

Type designation:

Inverter Model

Voltage class 2 = 200-

INPUT : AC 3PH 200-240V 50/60Hz
OUTPUT : AC 0-240V 1.7KVA 4.5A

LS600-2001

240V—— Maximum output capacity
4 = 380-460V

0-5 = 1/2HP
001 = 1HP
002 =2HP
003 =3HP
005 = 5HP
007 =7.5HP
010 =10HP
015=15HP

020 = 20HP
025 =25HP
030 =30HP
040 = 40HP
050 =50HP
060 = 60HP
075="75HP
100 = 100HP
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LR
J1 Signal Description Step
=l Telmlon | OC 0—5VPotentiometer Preset standard mode in factory. Take voltage source
i i from inverter itself and tune the speed from potentiometer A
m| |m 0Ff | on board, factory Preset | keypad.
=T Tal lon DC 0~5V Conlrol terminals V1, V2, V3 separately connect Io pins
m| (=] [m|oFF Exterior potentiometer #3, #2, #1 of exierior potentiometer, and set CO1=1, 3. B
= aN DC 0~5Y Take voltage source from PC or PLC transtormer.
s Connect lerminal V2 lo positive parl, terminal V3 to negative | C
Exterior signal
M| |S|m|m]OFF 9 part, and set CO1=1, 3.
010V exterior voltage source. Connect posiive part to
11 oN DC 0~10V terminal V1 and potentiometer pin #3, negative part to D
w ||| QFF Exterior pofentiometer | terminal V3 and potentiometer pin #1, signal input part io
and voltage Source terminal V2 and potentiometer pin #2, and set C01=1, 3.
Take voltage source from PC or PLC transformer. Connect
a0 ON DC o--10V terminal V2 to positive part, terminal V3 to negative part, E
L] M| OFF Exterior signal and set CO1=1, 3.
m ON 0--20mA 0—10mA current source . The analog signal control has F
0000 Current signal changed to current signal control. Set C01=1, 3.
_ OO0 ggF Cu?r’e:r?togi;ﬁ}al 4--20mA current source. Sel C01=4, 5. G
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Fault Abnormal reason Examination Soluti thod
display explanation matters olution metho
; Refer to manual Operate according
EH" Yrieng apsmmten for operating to correct method
C27=1 for Set C27=0to
)
parameter lock Grech parameter O2F release parameter lock
Overcurrent when Seek noise source such | Well inhibit noise by extra ins-
standstill (belong to as electromagnetic talling a filter and grounding or
0co noise disturbance) wave, ultrasonic change installation environment
Current sensor fault Return inverter to us for

reparation if displays OC0| Change current sensor by
after throwing in 3 times | technical personnel

Overcurrent when s inverter in rapid Extend acceleration time

oC1 acceleration (200% of accelerating state?
rated current)

Overcurrent when fix ls load variation too iati
0C2 speed operation (200% digistio? Reduce load variation

of rated current)

Overcurrent when s inverter in rapid -
oc3 deceleration (200% of decelerating stgte? Extend deceleration time

rated current)

Overload when Is acceleration time Extend acceleration time
OL1 acceleration (150% of too short or load too or reduce load condition

rated current) heavy?

Overload when fix Is load variation too Reduce load condition
oL2 speed operation (150% large? Measure output current of

of rated current) inverter by current probe

Overvoltage when Cenfirm input source Improve electric power
ouo standstill DC voltage voltage AC 200 ~ 240V B

more than 400V (AC {220V class) AC 380 —

220V spec.) or 800V 460V (380V class)

(AC 380V spec.)

Overvoltage when Is input voltage correct? | Improve electric power

acceleration situation and reduce

input voltage

(010} - : ;

Eleptric Ieake}ge cagsed Measure insulation of Change motor or rewind

by improper insulation | motor by megger or motor coil

of motor measure case using 10

k() gear of multimeter
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Overvoltage when fix
speed operation AC220V
voltage more than 270V
(DC 400V spec.) or AC
380V voltage more than
470V (DC 800V gpec.)

Is input voltage correct?

Improve electric power
situation and reduce
input voltage

ous

Overvoltage when
deceleration

Does rapid deceleration
make too large regener-
ated current and then
high voltage?

Extend deceleration time or
extra install braking resistor
or braking unit.

Input voltage is too high,
DC voltage is more than
400V (AC200V spec.) or
800V (AC380V spec.)

Is input voltage correct?

Improve electric power
situation and reduce
input voltage

OFF

Insufficient input voltage
instantaneocusly stops
electric power DC
voltage is less than 200V
(AC200V spec.) or 400V
(AC380V spec))

Test electric power
voltage

improve electric power
situation

EF

Simultaneous forward
and reverse rotation
commands

Check control circuit

Modify control circuit, close
only one FWD-COM, REV-
COM terminals at one time

FR

Exterior free running stop
command input (inverter
continuous rotation when
command released)

Check control circuit

Open FREE-RUN — COM
terminals if not used

OH

Heat sink overheating
(More than 80°C)

Is cooling fan normal?

Replace cooling fan

Surrounding temperature
too high or bad ventilation

Change installation
environment

No forward/reverse
command signal from

Check control circuit

Close ane of FWD-COM
and REV-COM terminals

exterior terminal

Is CO1=2, 3 or57

Change C01=0,1o0r4

bFE

Stop when motor is
braking

IsC18=17

Set C18=0 to release
braking function if not
necessary
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